Benzaldehyde
Response Ratio

3

Amount Ratio

Resp Ratio = 6.32e-001 * Amt + 3.90e-001
Coef of Det (r"2) = 0.991 Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF091319._.M
Calibration Table Last Updated: Fri Sep 13 16:23:17 2019




Benzoic acid
Response Ratio

1.1+

Amount Ratio

Resp Ratio = 2.24e-001 * Amt - 7.39e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF091319._.M
Calibration Table Last Updated: Fri Sep 13 16:23:17 2019




Hexachlorocyclopentadiene
Response Ratio

Amount Ratio

Resp Ratio = 2.53e-001 * Amt - 9.93e-002
Coef of Det (r"2) = 0.994 Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF091319._.M
Calibration Table Last Updated: Fri Sep 13 16:23:17 2019




2,4-Dinitrophenol
Response Ratio

Amount Ratio

Resp Ratio = 1.41e-001 * Amt - 6.45e-002
Coef of Det (r™2) = 0.993 Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF091319._.M
Calibration Table Last Updated: Fri Sep 13 16:23:17 2019




Response Ratio

4,6-Dinitro-2-methylphenol

Resp Ratio = 1.06e-00
Coef of Det (r"2) = 0.995

Amount Ratio

1 * Amt - 3.67e-002
Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEMI\BNA_F\METHODS\8270-BF091319.M
dated: Fri Sep 13 16:23:17 2019

Calibration Table Last Up




Atrazine
Response Ratio

Amount Ratio

R = -1.76e-002 A*A + 2.05e-001 A + 1.49e-002
Coef of Det (r"2) = 0.991 Curve Fit: Quadratic

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ F\METHODS\8270-BF091319._.M
Calibration Table Last Updated: Fri Sep 13 16:23:17 2019




